Rein periodische und gemischt periodische Dezimalzahlen[image: ] II



Verwandle die Brüche in Dezimalzahlen.

  3      ______        20     ______         5      ______
  —— = 0,230769        —— = 2,857142        1—— = 1,384615 
  13                   7                     13

 19      _        13      _      29      _        19       _
 —— = 3,16        —— = 0,86      —— = 1,93        —— = 1,58
 6                15             15               12

  14      _       29      _        14      _        13       _
  —— = 0,93       —— = 4,83        —— = 0,93        —— = 1,083
  15              6                15               12

  23      _        7       _        17      _        41       _
  —— = 0,76       2—— = 2,38        —— = 0,56        —— = 1,138
  30               18               30               36

  11      _        7        _     25      _        23      _
  —— = 0,36        —— = 0,194     —— = 1,38        —— = 1,27
  30               36             18               18
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